

Name: Umar Abdullahi Sabarako  
 Matrix number: 19/11/1501/421  
 MAT 104 assignment 07

Serial number 443

1)  $y = 2x^3$  at the point  $(1, 2)$

Solution

$$y = 2x^3$$

$$\frac{dy}{dx} = 6x^2$$

$$m = \frac{dy}{dx} \Big|_{x=1} = 6(1) = 6$$

Equation of tangent

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 6(x - 1)$$

$$y - 2 = 6x - 6$$

$$y = 6x - 4$$

Equation of normal

$$y - y_1 = -\frac{1}{m}(x - x_1); m_2 = -\frac{1}{6}$$

$$y - 2 = -\frac{1}{6}(x - 1)$$

$$6y - 12 = -x + 1$$

$$6y = -x + 13$$

$$y = \frac{-x + 13}{6}$$

2)  $y = 3x^2 - 2x$  at point  $(2, 8)$

Solution

$$y = 3x^2 - 2x$$

$$\frac{dy}{dx} = 6x - 2$$

$$m = \frac{dy}{dx} \Big|_{x=2} = 6(2) - 2 = 10$$

Equation of tangent

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y = 10x - 12$$

Equation of normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$m_2 = -\frac{1}{6}$$

$$y - 8 = -\frac{1}{6}(x - 2)$$

$$6y - 48 = -x + 2$$

$$6y = -x + 50$$

$$y = \frac{-x + 50}{6}$$

3)  $y = \frac{x^3}{2}$  at point  $(-1, -\frac{1}{2})$

Solution

$$y = \frac{x^3}{2}$$

$$\frac{dy}{dx} = \frac{3}{2}x^2$$

$$m = \frac{dy}{dx} \Big|_{x=-1} = \frac{3}{2}(-1)^2 = \frac{3}{2}$$

Equation of tangent

$$y - y_1 = m(x - x_1)$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$2y + 1 = 3x + 3$$

$$2y = 3x + 2$$

$$y = \frac{3x + 2}{2}$$

Equation of normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$m_2 = -\frac{2}{3}$$

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

$$6y + 3 = -2(-2x - 2)$$

$$6y + 3 = 4x + 4$$

$$6y = 4x + 1$$

$$y = \frac{4x + 1}{6}$$



17/11/2011

4)  $y = 1 + 2x - x^2$  at the point  $(-2, -5)$

$$\frac{dy}{dx} = 1 - 2x$$

$$m = \frac{dy}{dx} = 1 - 2(-2) = 1 + 4 = 5$$

Equation of a tangent

$$y - y_1 = m(x - x_1)$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y = 5x + 5$$

Equation of normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$m_2 = -\frac{1}{5}$$

$$y + 5 = -\frac{1}{5}(x + 2)$$

$$5y + 25 = -x - 2$$

$$5y = -x - 27$$

$$y = \frac{-x - 27}{5}$$

5)  $y = \frac{1}{x}$  at the point  $(3, \frac{1}{3})$

$$\frac{dy}{dx} = -\frac{1}{x^2}$$

$$\frac{dy}{dx} = -\frac{1}{9} = m$$

Equation of a tangent

$$y - y_1 = m(x - x_1)$$

$$(y - \frac{1}{3}) = -\frac{1}{9}(x - 3)$$

$$\frac{3y - 1}{3} = \frac{-x + 3}{9}$$

$$27y - 9 = -3x + 9$$

$$27y = -3x + 18$$

$$y = \frac{-3x + 18}{27}$$

$$y = \frac{-(x - 6)}{9}$$

Equation of normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$m_2 = 9$$

$$\frac{3y - 1}{3} = 9(x - 3)$$

$$\frac{3y - 1}{3} = 9x - 27$$

$$3y - 1 = 27x - 81$$

$$3y = 27x - 80$$

$$y = \frac{9x - 80}{3}$$